CB(1)702/13-14(0:

—Z-WE—H+tH

&Y & 3 1
VEAEXBEBZET
HERTAERONERBES
ER:)

Em AR m TR B E S AGE A B A IE - i LR
HBHEHHZFARAEHE  TAFEEYERE - AXMHE
ERELEEREHNERENER -

==
B =

i

2. R\ "HEANT FA BT BCR 2 BT E —
ke jE 72 L 2 LA Ial v i A B Bl 5 P /2 a0 BOAR 1Y AKE e
R —EIREETERREELFHE -

3. MEE R RE T =2 " NFEM RHEREH
mHRERT KMFEARMMR BT IREETRS > &
T HEE -~ EZERGHE UM FTEHELEREN
HE -

4. Ry 3 0 W A) 2 Al R AN R HE o8 MR Y T e K B M
PILLT IROAT DU R = IUE

(a) #f B IRF gl A< i (8] R AR R 40% Y IH H - 3 & I & Y
20% ;

(b) % ¥H B gl A W B 2R A F40% 2 70% 0 TEH H - 3 & I
HH15% ;5 DL Ry

(c) ¥ BLEF g A Bl R & R 70% Wy IHH - 36 & & 1
10%EL LT -


esnliu
打字機文字
CB(1)702/13-14(03)


%
5. RS B ER IO AE R TP B A o E U B
B B T R 0 IR S 4 B E T O R B B AR
B ERRBHEEBEHE CERD LA A - 2
1 98 5 B 15 71 o7 6% 15%2 1 - 2 G 5 W -

6. M HE AR 5 R BT P UL B 52 5 A B A i 2
B 5 R g B A + A 2 7 TN R L R

1 78 HOK 7 B

7. I A AR T E R R (LR B
0 R B (TR R 4R 6 R S 9 1 5+ DURE I
SRR TS TS

o 5t B9

8. HMGFH HEASEMOERL SEOKAG
i 89014 O T -

R A B 1

0. TN P A W O AT R R O - T R
SB = LR R T R A9 O ok 2 B 9 K2 T %
o

B E R

10. 3 3 Bk B R T 91 TR A R R

EWMNEBEER
—ZE—-YE—H



B £

HERTESHNNERERS
BRNK Z2HWE
. - & & & (5T)
”ﬁglﬁﬁﬁﬁsﬁﬂ" *EEEE&)T‘THBF% EE'E-.;TSQ)E mxtt% (HQE
(%) 1 R )
2 0 R 40 5% (30 i 3 B o2 5B ) I & B ((E R
5 (B B S DR ) A B ) (55 374B =) it £ 2)
B RYE (CERSEGER ) (5 374 ey 50 78 55
) () ) 5 75(5) EATRHNERERL (+10%)
8% 1) 25 Fi
% E 9F 40 8% o5 BH B (55 i 0B 1 2 9 ) I
7% F (45 374B i % 2)
5 R 50 78 55
A7 BRAE CHEBI) 8 T5(5) AR 8 Hi o (+10%)
W E R E NS A
MEEH - FrEGEmMEENESE 5.5 /2
e ( (BEET) HE % 5)
\ Sy 485 59 560
B BEEHAEE (EF) E 95 K (+15%)
55 103 {5 F7 #1192 0 19 &




HRSM | ZENE
N - @] & &5 (7T)
”ﬁ%lﬁﬁﬁﬁsﬁﬂ" *EEEE&)T‘THBF% EE'E-.;T::‘IQ)E EJT,ZI-(J:[S% (HQE

(%) 18 5 K )

BEEH - o s EEE 55 AT

K 24 NWEIYEEE ( ({EE ) M= 5)

. " \ W R 1,110 51 1,280

7 BRI A B (G E 95 % (+15%)

55 103 {6 F7 #1148 =5 4 (1 2 F

BEEA - O EEiAEREE 24 AU

B ((fEE) M FE 5)

L N . L bR 2,790 61 3,210

7 BRI A B (G E 95 B (+15%)

55 103 {6 BT #1148 =5 4 (1) 2% F

G ERER) ((BEE) % S)

A7 o ¥ CIEBI) % 103 R e 104 17 T 160 93 170

T T H B 0 2 (+6%)

BB EE R 5 E - B HE E Y B AT 8 N B

FA(CIEBT ) = 9)

e . o 7 iy 16,500 75 18,150

A7 fREE (fE1) F 88K & - B ENE R (+10%)

M8 € ~ s EREI B E A






